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JEAT K 4 ouT  IN =PI JIEAT K 4 ouT | IN JaRA| NT4 F b
1 HEER 37 38 75 5.2 69. 8 21 AR EE 51 54 105 25. 6 79. 4
2 {E&HA] 41 40 81 7.6 13.4 22 HAHLZ 54 | 4T 101 20.8  80.2
3 HEN 42 44 86 12. 4 73.6 23 | FAARSUER 52 48 100 19. 6 80. 4
4 2B 40 39 79 5.2 73.8 24 AR 49 46 95 13.6 81.4
5 THNAERER 43 48 91 17.2 73.8 25 | FRARFOIA 62 55 117 32.8 84.2
6 IARENXR 49 45 94 19.6 74. 4
7 ARES 49 51 100 25. 6 74. 4
8 | Rl 43 43 86 11.2 74.8
9  FHfE— 48 44 92 17.2 74.8
10 | FFR=ERER 43 47 90 14.8 75. 2
11 | Ao+ 44 45 89 13.6 75. 4
12 | FEAREEA 45 42 87 11.2 75.8
13 | K FFnHE] 41 44 85 8.8 76. 2
14 | RREPFME 48 42 90 13.6 76. 4
15 | WEAE 52 54 106 29. 2 76.8
16 PrHEFRAE: 47 51 98 20. 8 77.2
17 MEHEEZR 48 48 96 18. 4 77.6
18  FATHFR 45 43 88 10.0 78.0
19 EAER 52 48 100 22.0 78.0
20 RASE 46 47 93 14. 8 78.2




